RAMN: F47 - AX - Ty Y=o n 1/4 =
FfER : 2024%12H10H
BmRAE FRYT
FTEURIRR :© HIPREL
HDCPHIPR : 5 999.0 % 999.0 =7 999.0 %&¥=7 999.0
BEIERF . v > ARSERH
BELA—: P:123459 ®H:123568 F:124579
NE{iz LAY —4 [i] B 3] GROSS | HDCP NET
7 B HE £ £k 40 41 81 10.8 70.2
EEB BAIER i £k 46 41 87 16.8 70.2
3fiL hOEE R £k 43 39 82 10.8 71.2
AL Eha K & £k 41 41 82 10.8 71.2
v AR —5 £k 41 45 86 14.4 71.6
61z =f B Bk 41 38 79 7.2 71.8
7L m RE k& 46 45 91 19.2 71.8
8fiL BRIER = ELE k& 41 43 84 12.0 72.0
9fiL S8 HRER £k 41 40 81 8.4 712.6
1013z BR HFX £k 45 48 93 20.4 712.6
1111 TE B k& 41 45 86 13.2 72.8
12131 FrE =B Bk 42 42 84 10.8 73.2
1311 kg AE £k 43 41 84 10.8 73.2
14141 TFE H £k 42 42 84 10.8 73.2
1511 o = Kk 38 39 e 3.6 73.4
161z 42 41 83 9.6 73.4
17101 BR BXx £k 46 43 89 15.6 73.4
18111 M et £k 47 41 88 14.4 73.6
1911 i E— Kk 45 55 100 26.4 73.6
201z 39 36 75 1.2 73.8
2111 BR —IT £k 45 42 87 13.2 73.8
22131 N EF £k 47 45 92 18.0 74.0
2311 fRII - ERER Kk 47 51 98 24.0 74.0
2441 HE F— Kk 52 58 110 36.0 74.0
2511 BiE B £k 54 56 110 36.0 74.0
2611 =g e £k 42 43 85 10.8 74.2
2711 28 ME Kk 41 44 85 10.8 74.2
2811 (i S Kk 41 50 91 16.8 74.2
2911 =iE ®3 £k 44 47 91 16.8 74.2
301z ERE 257 £k 41 49 90 15.6 74.4
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3114z Wl =— £k 47 55 102 27.6 74.4
321 HHE # £k 50 52 102 27.6 74.4
331z BE A £k 40 43 83 8.4 74.6
3441 43 40 83 8.4 74.6
35z ERE Bul £k 42 46 88 13.2 74.8
361z B BE Bk 47 41 88 13.2 74.8
3741 FaIER A — £k 45 49 94 19.2 74.8
381z BR = k& 44 49 93 18.0 75.0
3911 hEE =B £k 37 43 80 4.8 75.2
401z 41 39 80 4.8 75.2
41131 B 5— k& 41 45 86 10.8 75.2
4241 BE —XK £k 45 40 85 9.6 75.4
431 2R &3 £k 39 46 85 9.6 75.4
A4f1 M =R £k 42 43 85 9.6 75.4
451 NG = £k 47 44 91 15.6 75.4
A61L BEIR fE— £k 45 46 91 15.6 75.4
ATHI SR BIT £k 51 52 103 27.6 75.4
481 P R Kk 51 52 103 27.6 75.4
4911 =fF R Kk 40 44 84 8.4 75.6
501z NS S oY Kk 44 46 90 14.4 75.6
511z NSty £k 41 48 89 13.2 75.8
b21iL P ==E Kk 42 47 89 13.2 75.8
531iL s (- k& 47 48 95 19.2 75.8
BALL BE 1BE B 46 49 95 19.2 75.8
551 5B —X Kk 41 41 82 6.0 76.0
561iL =i EBEi& Kk 47 41 88 12.0 76.0
b7HI HF ST Kk 47 41 88 12.0 76.0
58I 2R £k 47 41 88 12.0 76.0
591z gl RE=E Kk 47 47 94 18.0 76.0
601z WA 3k £k 50 50 100 24.0 76.0
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6111 LA K & £k 40 47 87 10.8 76.2
6211 Ef Rk £k 48 45 93 16.8 76.2
6311 ®BEE W £k 47 46 93 16.8 76.2
6441 R & £k 46 47 93 16.8 76.2
6511 PR IET] £k 47 51 98 21.6 76.4
6611 XA ER £k 49 42 91 14.4 76.6
6711 kpE k& 45 52 97 20.4 76.6
681z HLE EmM £k 44 53 97 20.4 76.6
6911 XA 18 £k 47 50 97 20.4 76.6
701z 48 49 97 20.4 76.6
7141 BR E— £k 48 42 90 13.2 76.8
72141 BR B £k 45 44 89 12.0 77.0
7311 KR HxE £k 45 50 95 18.0 77.0
7441 BiE Bk £k 45 50 95 18.0 77.0
7511 TE =# Kk 51 50 101 24.0 77.0
761z 48 46 94 16.8 17.2
TTHI B4R =— £k 47 47 94 16.8 17.2
7811 kR Kk 56 50 106 28.8 17.2
7911 BiE #F £k 53 53 106 28.8 17.2
801z A BIE £k 50 49 99 21.6 17.4
811iL —PEE XA £k 52 53 105 27.6 17.4
8211 (R N £k 51 47 98 20.4 77.6
83111 FiE IBEW £k 49 48 97 19.2 77.8
84431 NS5 S £k 54 55 109 31.2 77.8
85111 TE RE £k 45 51 96 18.0 78.0
861z 43 45 88 9.6 78.4
871iL s IfEEC £k 47 47 94 15.6 78.4
881iL B4R R Kk 51 49 100 21.6 78.4
8911 TE B £k 49 48 97 18.0 79.0
901z e RE £k 46 51 97 18.0 79.0
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9111 =24 R £k 45 45 90 10.8 79.2
9211 L TTE £k 46 5b 101 21.6 79.4
931 =K =5 £k 53 54 107 27.6 79.4
94431 N /N =87 £k 53 45 98 18.0 80.0
951 B4R & £k 51 52 103 22.8 80.2
961z 58 49 107 26.4 80.6
974z 54 59 113 32.4 80.6
981z FAIER  sEH) £k 44 50 94 13.2 80.8
9911 kg =— Bk 47 53 100 19.2 80.8
10011z (el N ) £k 47 53 100 19.2 80.8
1011z ®’EE —3 k& 50 49 99 18.0 81.0
1021z /Ty £k 47 51 98 16.8 81.2
10311z =i £k 59 56 115 33.6 81.4
104141 TIE FR £k 46 50 96 14.4 81.6
1051z (s &= £k 50 52 102 20.4 81.6
1061z =iE RIE Kk 52 56 108 26.4 81.6
1071z 55 53 108 26.4 81.6
10811z 51 56 107 25.2 81.8
10911z s B Kk 45 42 87 4.8 82.2
1101z Ml #H £k 53 58 111 28.8 82.2
111101 INEFE ORI Kk 44 51 95 12.0 83.0
1121z 52 58 110 26.4 83.6
1131z fIER B £k 49 51 100 15.6 84.4
114141 s AR Kk 69 54 123 38.4 84.6




